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8&'t uC��CU�;  

10   ��8��&�� 
'� `q��� �f17  ���
�� � Q��2�� `a�<�� �,-$ �r:�K130 � �������)  �����������2010 �*+� (
 
:<:<�� ��	q�� �,-$% �!"�#�� !$%&'��ITU-T X p<\ ��T�"U� �r	T �F ������� �		
� }�N
� �1�>�?��  

89	:�9. ���3� ;,<= 2
>= ?�<�  

1   �6�
= �,$z� m���'�8�  
NL���� ��4�:��� Q&K�?" @A�	B  8	=��CD. 8	�����E<,� F=G. �
	CH @I	J. K
2L�.
89	:�9.�"  �B�X	<�� 345� �,-$ ������� 
	�'� }�N? ��r�% ��� ��&K¡$ �
:��� ��w n��5� ���s'�� Q&K�<F%


	4���� 
	�%&��% 
	�	:?U�% 
	'E��� 
N-C5�% �����L�:��&� �  �=���
41���� 	�����
 ��	c	����8@� �r'��% z�  �%&d� J�?f
 
'9����  
	h5� ��w ����� bPt
���L��;  

2   6&
= �,$m��=�
�  z� m�=�'8 �:0��.��� �&�� �M'�� J:K �  ���
��130 )� �������  �����������2010( � �*+
!"�#�� !$%&'���  y��� 6&
��� �,-$� b@Kf 
'	L�� ��1���U�;  

3   �4 �	<'���% 345� D=��4 /�0 � {��c���% ��XI� ��w n��5� ���s'�� k=�+� _P�� �%&��$ ����K�� 
:q��F
 bPt�1�>�?�� p<\ ���s'��  

/�01 89	:�9. ���3� ;,<= 2
>= ?�<�  

1  ��4�:��� ���� 
	����� 
�
�� 
N-Cf 
�$��4 
:q��F (WSIS) � 345�% 

2�� 1�'$ �,-$  �	����'9� /����8�
�������% ��4�:��� ��4�:��� /��L� `L8 34 `	L<v ��w% !	'��� 
M:��� {�Mqf �4 �%�����$ � [����� &	���� J:K

;B�X	<�� 345�$ 

:���� 
=�		���� D�% 
	�%&��% 
	�	:?U�% 
	'E��� �����L�� �,-$  

2  $ �������� 
	�'� p�94 �4 �%����� �:��= ��	T B�X	<�� 345� o¢ &'$ _,$m�
T% ���
:� 45 ) �������
� �&	\  ���$]2010 (������� 
	�'�� [����� �*+�:�;  

3   
MT�9� ���E5� Q�&��4 
	�%&�� 
v��-�� �4% 6���� !4S� [����� B�X	<�� 345� �4�C�$ �4 �%����� 
:q��F
 �����@� A%&�� ��.��) 
	C�X	<�� ��&=&r���–  }%�-4% �(uv�L4�FIRST  
	�	:?U�% 
	����� �=��-�� 34 �tD�%

 345�$ 
:���� 
#:�7�� 
	�%&��% 
	�	:?U� �����L��% ���s'�� �4 ��v��l% ��?@K 
4�?�% �1�>�?�� p<\ �n��5�
�
N-C5� bPt � 
v��-�� z� 
	4�'�� ��&:L�� 
q��% 1�>K5� /%&�� �	~ Q�K�% �1�>�?�� p<\ �B�X	<�� %��#v
 

 �	<'����4 �%�����% 
N-C5� bPt 
#:�7��;  

4  ���
�� �4 m�	l�* 3=�� � !L�9�� _�=&4 �4 B%��� `9-$ `����$ 130 )� �������  �����������2010 RK&� (
���
:� m�
T%) 
:��£ Rt�#� Q�vPF �:��� 

	W% ��&K� � 6���� !45� 45 )� ������� �&	\  ���$]2010*+�:� ( 
	�'�� [����� �

 
	4�'�� ��&:L�� 
=�G `�f 34 
	C�X	<�� ��&=&r��� 
MT�94% B�X	<�� 345� �=���� 
��r�� 1�>K5� /%&�� !$ (�������
�
:���� Q�vP�� bPt z� 6��>C��$ R�r= &:$ _f%  

>�M	L3�. N	'-�� N	'-G. O�>�. �- P+�,ED.� �@�Q�	1G. 8	R�S.� T��� 5N	',U9. ;�  

� 
	���#$ 
v��-��% �%����� z� .k$ 
NL���� ��1���U�% ���
�� �Pt P	#'�  

  


	القرار 50 (المراجع في دبي، 2012)
	الأمن السيبراني

